

Fluency Sheet Bonds 1-3 (Addition)

Name	Year:	Time to complete:
$1 + \underline{\quad} = 1$	$1 + \underline{\quad} = 2$	
$0 + \underline{\quad} = 1$	$2 + \underline{\quad} = 2$	
$0 + \underline{\quad} = 2$	$0 + \underline{\quad} = 3$	
$1 + \underline{\quad} = 3$	$2 + \underline{\quad} = 3$	
$2 + \underline{\quad} = 2$	$1 + \underline{\quad} = 3$	
$3 + \underline{\quad} = 3$	$2 + \underline{\quad} = 3$	
$1 + \underline{\quad} = 1$	$0 + \underline{\quad} = 2$	
$1 + \underline{\quad} = 3$	$2 + \underline{\quad} = 3$	
$1 + \underline{\quad} = 2$	$3 + \underline{\quad} = 3$	

Fluency Sheet Bonds 1-3 (Addition)

Name

Year:

Time to complete:

$1 + \underline{\quad} = 1$

$1 + 1 = \underline{\quad}$

$0 + \underline{\quad} = 1$

$2 + \underline{\quad} = 2$

$0 + 2 = \underline{\quad}$

$3 + \underline{\quad} = 3$

$1 + \underline{\quad} = 3$

$2 + 1 = \underline{\quad}$

$2 + 1 = \underline{\quad}$

$1 + \underline{\quad} = 3$

$1 + \underline{\quad} = 2$

$1 + 2 = \underline{\quad}$

$1 + 0 = \underline{\quad}$

$0 + 2 = \underline{\quad}$

$3 + \underline{\quad} = 3$

$1 + \underline{\quad} = 3$

$2 + 0 = \underline{\quad}$

$3 + \underline{\quad} = 3$

Fluency Sheet Bonds 1-3 (Addition and Subtraction)

Name	Year:	Time to complete:
$1 + 0 = \underline{\quad}$	$1 - \underline{\quad} = 1$	
$0 + \underline{\quad} = 1$	$1 - 1 = \underline{\quad}$	
$0 + \underline{\quad} = 2$	$2 + \underline{\quad} = 3$	
$3 - 0 = \underline{\quad}$	$1 + \underline{\quad} = 3$	
$1 + 2 = \underline{\quad}$	$2 + 1 = \underline{\quad}$	
$3 - \underline{\quad} = 1$	$1 - \underline{\quad} = 0$	
$1 + 2 = \underline{\quad}$	$2 - \underline{\quad} = 1$	
$2 + \underline{\quad} = 3$	$2 - 1 = \underline{\quad}$	
$3 - \underline{\quad} = 2$	$3 + 3 = \underline{\quad}$	

Fluency Sheet Bonds 1-4 (Addition)

Name

Year:

Time to complete:

$1 + \underline{\quad} = 1$

$3 + 1 = \underline{\quad}$

$4 + \underline{\quad} = 4$

$2 + \underline{\quad} = 3$

$0 + 3 = \underline{\quad}$

$3 + \underline{\quad} = 4$

$1 + \underline{\quad} = 3$

$2 + 2 = \underline{\quad}$

$1 + 3 = \underline{\quad}$

$1 + \underline{\quad} = 3$

$1 + \underline{\quad} = 2$

$1 + 0 = \underline{\quad}$

$3 + 1 = \underline{\quad}$

$1 + 2 = \underline{\quad}$

$2 + \underline{\quad} = 3$

$1 + \underline{\quad} = 3$

$2 + 0 = \underline{\quad}$

$3 + \underline{\quad} = 4$

Fluency Sheet Bonds 1-4 (Addition and Subtraction)

Name	Year:	Time to complete:
$1 + \underline{\quad} = 1$	$3 - 1 = \underline{\quad}$	
$4 - \underline{\quad} = 2$	$2 + \underline{\quad} = 3$	
$1 + 3 = \underline{\quad}$	$4 - \underline{\quad} = 3$	
$1 - \underline{\quad} = 1$	$2 - 2 = \underline{\quad}$	
$1 + 3 = \underline{\quad}$	$3 + \underline{\quad} = 1$	
$1 + \underline{\quad} = 4$	$3 - 2 = \underline{\quad}$	
$3 + 1 = \underline{\quad}$	$3 - 2 = \underline{\quad}$	
$2 + \underline{\quad} = 4$	$1 + \underline{\quad} = 3$	
$2 - 0 = \underline{\quad}$	$3 + \underline{\quad} = 4$	

Fluency Sheet Bonds for 4 (Addition)

Name	Year:	Time to complete:
$1 + \underline{\quad} = 4$	$0 + \underline{\quad} = 4$	
$1 + \underline{\quad} = 4$	$2 + \underline{\quad} = 4$	
$3 + \underline{\quad} = 4$	$1 + \underline{\quad} = 4$	
$3 + \underline{\quad} = 4$	$2 + \underline{\quad} = 4$	
$1 + \underline{\quad} = 4$	$0 + \underline{\quad} = 4$	
$2 + \underline{\quad} = 4$	$4 + 0 = \underline{\quad}$	
$3 + \underline{\quad} = 4$	$1 + \underline{\quad} = 4$	
$2 + \underline{\quad} = 4$	$0 + \underline{\quad} = 4$	
$4 + \underline{\quad} = 4$	$3 + \underline{\quad} = 4$	

Fluency Sheet Bonds for 4 (Addition and Subtraction)

Name	Year:	Time to complete:
$1 + \underline{\quad} = 4$	$4 + \underline{\quad} = 4$	
$4 - \underline{\quad} = 2$	$2 + \underline{\quad} = 4$	
$1 + \underline{\quad} = 4$	$3 + \underline{\quad} = 4$	
$4 - \underline{\quad} = 1$	$2 + \underline{\quad} = 5$	
$1 + \underline{\quad} = 4$	$4 + \underline{\quad} = 4$	
$3 + \underline{\quad} = 4$	$4 - 3 = \underline{\quad}$	
$4 + 0 = \underline{\quad}$	$4 - 1 = \underline{\quad}$	
$2 + \underline{\quad} = 4$	$1 + \underline{\quad} = 4$	
$4 - 1 = \underline{\quad}$	$3 + \underline{\quad} = 4$	

Fluency Sheet Bonds for 5 (Addition)

Name	Year:	Time to complete:
$5 + \underline{\quad} = 5$	$3 + \underline{\quad} = 5$	
$4 + \underline{\quad} = 5$	$0 + \underline{\quad} = 5$	
$1 + \underline{\quad} = 5$	$2 + \underline{\quad} = 5$	
$5 + \underline{\quad} = 5$	$4 + \underline{\quad} = 5$	
$2 + \underline{\quad} = 5$	$3 + \underline{\quad} = 5$	
$3 + \underline{\quad} = 5$	$1 + \underline{\quad} = 5$	
$5 + \underline{\quad} = 5$	$4 + \underline{\quad} = 5$	
$2 + \underline{\quad} = 5$	$1 + \underline{\quad} = 5$	
$3 + \underline{\quad} = 5$	$2 + \underline{\quad} = 5$	

Fluency Sheet Bonds for 5 (Addition and Subtraction)

Name	Year:	Time to complete:
$3 + \underline{\quad} = 5$	$5 - 2 = \underline{\quad}$	
$2 + \underline{\quad} = 5$	$5 - 4 = \underline{\quad}$	
$5 - 3 = \underline{\quad}$	$4 + \underline{\quad} = 5$	
$0 + \underline{\quad} = 5$	$5 - 1 = \underline{\quad}$	
$3 + \underline{\quad} = 5$	$5 - 5 = \underline{\quad}$	
$5 - 3 = \underline{\quad}$	$1 + \underline{\quad} = 5$	
$4 + \underline{\quad} = 5$	$3 + \underline{\quad} = 5$	
$5 - 2 = \underline{\quad}$	$5 + \underline{\quad} = 5$	
$5 - 1 = \underline{\quad}$	$2 + \underline{\quad} = 5$	

Fluency Sheet Bonds 1-5 (Addition)

Name

Year:

Time to complete:

$1 + \underline{\quad} = 1$

$4 + 1 = \underline{\quad}$

$4 + \underline{\quad} = 4$

$2 + \underline{\quad} = 5$

$0 + 5 = \underline{\quad}$

$3 + \underline{\quad} = 4$

$1 + \underline{\quad} = 3$

$2 + 3 = \underline{\quad}$

$1 + 4 = \underline{\quad}$

$1 + \underline{\quad} = 3$

$1 + \underline{\quad} = 2$

$1 + 0 = \underline{\quad}$

$1 + 4 = \underline{\quad}$

$4 + 1 = \underline{\quad}$

$2 + \underline{\quad} = 4$

$1 + \underline{\quad} = 3$

$1 + 2 = \underline{\quad}$

$3 + \underline{\quad} = 5$

Fluency Sheet Bonds 1-5 (Addition and Subtraction)

Name

Year:

Time to complete:

$1 + \underline{\quad} = 1$

$4 - 1 = \underline{\quad}$

$4 + \underline{\quad} = 5$

$5 - \underline{\quad} = 3$

$0 + 5 = \underline{\quad}$

$3 + \underline{\quad} = 4$

$1 + \underline{\quad} = 3$

$2 + 3 = \underline{\quad}$

$4 - 1 = \underline{\quad}$

$1 + \underline{\quad} = 2$

$2 - \underline{\quad} = 1$

$3 + 2 = \underline{\quad}$

$1 + 4 = \underline{\quad}$

$5 - 1 = \underline{\quad}$

$2 + \underline{\quad} = 4$

$3 + \underline{\quad} = 1$

$1 + 2 = \underline{\quad}$

$5 + \underline{\quad} = 2$

Fluency Sheet Bonds for 6 (Addition)

Name	Year:	Time to complete:
$6 + \underline{\quad} = 6$	$3 + \underline{\quad} = 6$	
$5 + \underline{\quad} = 6$	$0 + \underline{\quad} = 6$	
$1 + \underline{\quad} = 6$	$2 + \underline{\quad} = 6$	
$3 + \underline{\quad} = 6$	$4 + \underline{\quad} = 6$	
$2 + \underline{\quad} = 6$	$5 + \underline{\quad} = 6$	
$3 + \underline{\quad} = 6$	$6 + \underline{\quad} = 6$	
$1 + \underline{\quad} = 6$	$4 + \underline{\quad} = 6$	
$5 + \underline{\quad} = 6$	$1 + \underline{\quad} = 6$	
$4 + \underline{\quad} = 6$	$3 + \underline{\quad} = 6$	

Fluency Sheet Bonds for 6 (Addition and Subtraction)

Name	Year:	Time to complete:
$3 + \underline{\quad} = 6$	$6 - 2 = \underline{\quad}$	
$2 + \underline{\quad} = 6$	$6 - 4 = \underline{\quad}$	
$6 - 3 = \underline{\quad}$	$4 + \underline{\quad} = 6$	
$0 + \underline{\quad} = 6$	$6 - 1 = \underline{\quad}$	
$3 + \underline{\quad} = 6$	$6 - 5 = \underline{\quad}$	
$6 - 0 = \underline{\quad}$	$1 + \underline{\quad} = 6$	
$4 + \underline{\quad} = 6$	$5 + \underline{\quad} = 6$	
$6 - 3 = \underline{\quad}$	$4 + \underline{\quad} = 6$	
$5 + 1 = \underline{\quad}$	$3 + \underline{\quad} = 6$	

Fluency Sheet Bonds for 7 (Addition)

Name	Year:	Time to complete:
$7 + \underline{\quad} = 7$	$3 + \underline{\quad} = 7$	
$6 + \underline{\quad} = 7$	$0 + \underline{\quad} = 7$	
$2 + \underline{\quad} = 7$	$5 + \underline{\quad} = 7$	
$4 + \underline{\quad} = 7$	$3 + \underline{\quad} = 7$	
$2 + \underline{\quad} = 7$	$5 + \underline{\quad} = 7$	
$6 + \underline{\quad} = 7$	$1 + \underline{\quad} = 7$	
$0 + \underline{\quad} = 7$	$4 + \underline{\quad} = 7$	
$5 + \underline{\quad} = 7$	$1 + \underline{\quad} = 7$	
$4 + \underline{\quad} = 7$	$6 + \underline{\quad} = 7$	

Fluency Sheet Bonds for 7 (Addition and Subtraction)

Name

Year:

Time to complete:

$3 + \underline{\quad} = 7$

$7 - 2 = \underline{\quad}$

$2 + \underline{\quad} = 7$

$7 - 4 = \underline{\quad}$

$7 - 3 = \underline{\quad}$

$4 + \underline{\quad} = 7$

$0 + \underline{\quad} = 7$

$7 - 6 = \underline{\quad}$

$3 + \underline{\quad} = 7$

$7 - 5 = \underline{\quad}$

$7 - 0 = \underline{\quad}$

$1 + \underline{\quad} = 7$

$7 + \underline{\quad} = 7$

$5 + \underline{\quad} = 7$

$7 - 3 = \underline{\quad}$

$6 + \underline{\quad} = 7$

$7 - 1 = \underline{\quad}$

$3 + \underline{\quad} = 7$

Fluency Sheet Bonds for 8 (Addition)

Name	Year:	Time to complete:
$7 + \underline{\quad} = 8$	$3 + \underline{\quad} = 8$	
$8 + \underline{\quad} = 8$	$0 + \underline{\quad} = 8$	
$2 + \underline{\quad} = 8$	$5 + \underline{\quad} = 8$	
$4 + \underline{\quad} = 8$	$1 + \underline{\quad} = 8$	
$6 + \underline{\quad} = 8$	$5 + \underline{\quad} = 8$	
$7 + \underline{\quad} = 8$	$3 + \underline{\quad} = 8$	
$0 + \underline{\quad} = 8$	$4 + \underline{\quad} = 8$	
$7 + \underline{\quad} = 8$	$1 + \underline{\quad} = 8$	
$2 + \underline{\quad} = 8$	$6 + \underline{\quad} = 8$	

Fluency Sheet Bonds for 8 (Addition and Subtraction)

Name	Year:	Time to complete:
$3 + \underline{\quad} = 8$	$8 - 2 = \underline{\quad}$	
$2 + \underline{\quad} = 8$	$8 - 4 = \underline{\quad}$	
$8 - 3 = \underline{\quad}$	$4 + \underline{\quad} = 8$	
$0 + \underline{\quad} = 8$	$8 - 6 = \underline{\quad}$	
$1 + \underline{\quad} = 8$	$8 - 5 = \underline{\quad}$	
$8 - 0 = \underline{\quad}$	$7 + \underline{\quad} = 8$	
$6 + \underline{\quad} = 8$	$8 - 5 = \underline{\quad}$	
$8 - 1 = \underline{\quad}$	$8 - 7 = \underline{\quad}$	
$8 - 0 = \underline{\quad}$	$5 + \underline{\quad} = 8$	

Fluency Sheet Bonds for 9 (Addition)

Name

Year:

Time to complete:

$7 + \underline{\quad} = 9$

$3 + \underline{\quad} = 9$

$9 + \underline{\quad} = 9$

$0 + \underline{\quad} = 9$

$2 + \underline{\quad} = 9$

$5 + \underline{\quad} = 9$

$4 + \underline{\quad} = 9$

$1 + \underline{\quad} = 9$

$6 + \underline{\quad} = 9$

$8 + \underline{\quad} = 9$

$7 + \underline{\quad} = 9$

$3 + \underline{\quad} = 9$

$0 + \underline{\quad} = 9$

$4 + \underline{\quad} = 9$

$7 + \underline{\quad} = 9$

$1 + \underline{\quad} = 9$

$2 + \underline{\quad} = 9$

$8 + \underline{\quad} = 9$

Fluency Sheet Bonds for 9 (Addition and Subtraction)

Name	Year:	Time to complete:
------	-------	-------------------

$3 + \underline{\quad} = 9$

$9 - 2 = \underline{\quad}$

$2 + \underline{\quad} = 9$

$9 - 4 = \underline{\quad}$

$9 - 3 = \underline{\quad}$

$4 + \underline{\quad} = 9$

$0 + \underline{\quad} = 9$

$9 - 6 = \underline{\quad}$

$1 + \underline{\quad} = 9$

$9 - 5 = \underline{\quad}$

$9 - 0 = \underline{\quad}$

$7 + \underline{\quad} = 9$

$6 + \underline{\quad} = 9$

$9 - 8 = \underline{\quad}$

$9 - 1 = \underline{\quad}$

$9 - 7 = \underline{\quad}$

$9 - 0 = \underline{\quad}$

$5 + \underline{\quad} = 9$

$8 + \underline{\quad} = 9$

$9 - 5 = \underline{\quad}$

$9 - 1 = \underline{\quad}$

$9 - 7 = \underline{\quad}$

$9 - 0 = \underline{\quad}$

$5 + \underline{\quad} = 9$

Fluency Sheet Bonds for 10 (Addition)

Name	Year:	Time to complete:
$7 + \underline{\quad} = 10$	$3 + \underline{\quad} = 10$	
$10 + \underline{\quad} = 10$	$0 + \underline{\quad} = 10$	
$2 + \underline{\quad} = 10$	$5 + \underline{\quad} = 10$	
$4 + \underline{\quad} = 10$	$1 + \underline{\quad} = 10$	
$6 + \underline{\quad} = 10$	$8 + \underline{\quad} = 10$	
$9 + \underline{\quad} = 10$	$3 + \underline{\quad} = 10$	
$0 + \underline{\quad} = 10$	$4 + \underline{\quad} = 10$	
$6 + \underline{\quad} = 10$	$5 + \underline{\quad} = 10$	
$2 + \underline{\quad} = 10$	$8 + \underline{\quad} = 10$	
$3 + \underline{\quad} = 10$	$9 + \underline{\quad} = 10$	
$6 + \underline{\quad} = 10$	$4 + \underline{\quad} = 10$	
$9 + \underline{\quad} = 10$	$1 + \underline{\quad} = 10$	
$2 + \underline{\quad} = 10$	$7 + \underline{\quad} = 10$	

Fluency Sheet Bonds for 10 (Addition and Subtraction)

Name	Year:	Time to complete:
$3 + \underline{\quad} = 10$	$10 - 2 = \underline{\quad}$	
$2 + \underline{\quad} = 10$	$10 - 4 = \underline{\quad}$	
$10 - 3 = \underline{\quad}$	$4 + \underline{\quad} = 10$	
$0 + \underline{\quad} = 10$	$10 - 6 = \underline{\quad}$	
$1 + \underline{\quad} = 10$	$10 - 5 = \underline{\quad}$	
$10 - 0 = \underline{\quad}$	$7 + \underline{\quad} = 10$	
$6 + \underline{\quad} = 10$	$10 - 8 = \underline{\quad}$	
$10 - 1 = \underline{\quad}$	$10 - 7 = \underline{\quad}$	
$10 - 0 = \underline{\quad}$	$5 + \underline{\quad} = 10$	
$8 + \underline{\quad} = 10$	$10 - 9 = \underline{\quad}$	
$10 - 1 = \underline{\quad}$	$10 - 8 = \underline{\quad}$	
$10 - 4 = \underline{\quad}$	$9 + \underline{\quad} = 10$	
$10 - 1 = \underline{\quad}$	$10 - 6 = \underline{\quad}$	
$10 - 0 = \underline{\quad}$	$5 + \underline{\quad} = 10$	

Fluency Sheet Bonds 1-10 (Addition)

Name	Year:	Time to complete:
$1 + \underline{\quad} = 1$	$3 + \underline{\quad} = 4$	$5 + \underline{\quad} = 10$
$2 + \underline{\quad} = 6$	$10 + \underline{\quad} = 10$	$4 + \underline{\quad} = 7$
$3 + \underline{\quad} = 5$	$5 + \underline{\quad} = 5$	$7 + \underline{\quad} = 10$
$1 + \underline{\quad} = 8$	$8 + \underline{\quad} = 8$	$6 + \underline{\quad} = 9$
$1 + \underline{\quad} = 6$	$7 + \underline{\quad} = 7$	$9 + \underline{\quad} = 10$
$5 + \underline{\quad} = 8$	$2 + \underline{\quad} = 9$	$2 + \underline{\quad} = 3$
$1 + \underline{\quad} = 4$	$4 + \underline{\quad} = 10$	$3 + \underline{\quad} = 6$
$6 + \underline{\quad} = 10$	$4 + \underline{\quad} = 5$	$1 + \underline{\quad} = 9$
$5 + \underline{\quad} = 8$	$5 + \underline{\quad} = 6$	$1 + \underline{\quad} = 5$
$5 + \underline{\quad} = 9$	$6 + \underline{\quad} = 7$	$3 + \underline{\quad} = 8$
$1 + \underline{\quad} = 3$	$0 + \underline{\quad} = 4$	$4 + \underline{\quad} = 9$
$6 + \underline{\quad} = 6$	$2 + \underline{\quad} = 5$	$1 + \underline{\quad} = 10$
$2 + \underline{\quad} = 10$	$4 + \underline{\quad} = 6$	$2 + \underline{\quad} = 7$
$3 + \underline{\quad} = 9$	$7 + \underline{\quad} = 8$	$7 + \underline{\quad} = 9$
$2 + \underline{\quad} = 8$	$3 + \underline{\quad} = 10$	$4 + \underline{\quad} = 8$
$5 + \underline{\quad} = 7$	$3 + \underline{\quad} = 7$	$9 + \underline{\quad} = 9$
$2 + \underline{\quad} = 4$	$8 + \underline{\quad} = 9$	$1 + \underline{\quad} = 7$
$0 + \underline{\quad} = 7$	$2 + \underline{\quad} = 4$	$8 + \underline{\quad} = 10$
$6 + \underline{\quad} = 10$	$3 + \underline{\quad} = 0$	$1 + \underline{\quad} = 2$
$2 + \underline{\quad} = 2$	$6 + \underline{\quad} = 8$	$3 + \underline{\quad} = 3$